MEMBER 2 MEMBER PLUS

A SIMPLE PLAN to \$5,050 MONTHLY start with only \$25

Welcome to A Crowd Funding Opportunity in which People Help People by donating to their inviter so they can help each other to pay their bills, put food on the table or get out of debt. This is a simple solution for everyone.

Get started with only \$25 one time out of pocket to your INVITER!

To get started send to your inviter first then copy and mail this flyer until you have at least three people that send to you. If someone guits they must be replaced. Everyone must always have at least three people to send to them. Everyone sends person to person cash in the mail to their inviter or you can use an online payment processor.

PEOPLEMENT NO REDRUE It's so simple and it's up to YOU!

Are you ready to BLESS and BE BLESSED? Copy, mall and invite until you have at least three that will send to you. No limit to how many you can invite to join you!

Send your blessing to your inviter wrapped in a copy of this letter or simply send your blessing to your inviter in a cheap card from the dollar store.

Find your inviters contact information on the bottom of this invitation.

Mail copies of this fiyer until you receive \$25 from at least 3 people.

This Works FASTI Follow the plan EXACTLY for your SUCCESS!

Receive from three that you invite, and then send the next level to your inviter on the same day you receive. Invite as many as you'd like to join you. Winners Never Quit.

Make copies of this flyer and mail until you receive \$25 from at least 3 that join you.

HERE'S HOW IT WORKS!!! Send \$25 one time out of pocket

จันวัน วัน วัน วัน หลอย รับว่า Send \$50 to your inviter on the 1 Monday
\$50.x 3 = \$150 Keep \$50 Send \$100 to your inviter on the 1st Friday
\$100 x 3 = \$300 Keep \$100 Send \$200 to your inviter on the 2 nd Monday
\$200 x 3 = \$600 Keep \$200 Send \$400 to your inviter on the 2 nd Friday
\$400 x 3 = \$1200 Keep \$400 Send \$800 . to your inviter on the 3'd Monday
\$800 x 3 = \$2400 Keep \$800 Send \$1600 to your inviter on the 3 Friday
\$1600 x 3 = \$4800 Keep;\$3600 Send, \$1200 to your inviter on the 4 Monday

Total you keep monthly is \$5,050

EVERYONE MUST SEND DR BARNETT \$100 FOR EACH 2nd MONDAY FOR THE 130 CLUB
The same three will be sending to you weekly. You send to your inviter weekly!

Please Join us on our CONFERENCE CALLS every Monday thru saturday

9	8:30PM Eastern	TimeCall: 605-313-6143 Pin Code: 105424#	(4)
INVITER:		100 100 100 100 100 100 100 100 100 100	
	Address:		
	City/State/Zip:		
	Phone/Email:		

No Spam Here... To be removed from our mailing list, please call the inviter and you will be deleted from our list. Thank you.

24/7 Recorded Coul 605-313-5712 PINIO5434# MEMBER 2 NEMBER PLUS Ref. 33#

A SIMPLE PLAN to \$5,050 MONTHLY Start with only \$25

Welcome to A Crowd Funding Opportunity in which People Help People by donating to their inviter so they can help each other to pay their bills, put food on the table or get out of debt. This is a simple solution for everyone.

Get started with only \$25 one time out of pocket to your INVITER!

To get started send to your inviter first then copy and mail this flyer until you have at least three people that send to you. If someone quits they must be replaced. Everyone must always have at least three people to send to them. Everyone sends person to person cash in the mail to their inviter or you can use an online payment processor.

PEORESHEE INCREDENT It's so simple and it's up to YOU!

Are you ready to BLESS and BE BLESSED? Copy, mail and invite until you have at least three that will send to you. No limit to how many you can invite to join you!

Send your blessing to your inviter wrapped in a copy of this letter or simply send your blessing to your inviter in a cheap card from the dollar store.

Find your inviters contact information on the bottom of this invitation.

Mail copies of this flyer until you receive \$25 from at least 3 people.

This Works FASTI Follow the plan EXACTLY for your SUCCESS!

Receive from three that you invite, and then send the next level to your inviter on the same day you receive. Invite as many as you'd like to join you. Winners Never Quit.

Make copies of this flyer and mail until you receive \$25 from at least 3 that join you.

HERE'S HOW IT WORKS!!! Send \$25 one time out of pocket

\$25'x 3' = \$75Keep \$25Send \$50	to your inviter on the 1" Monday
\$50 x 3 = \$150 Keep \$50 Send \$10	0 to your inviter on the 1st Friday
\$100 x 3 = \$300 Keep \$100 Send \$20	
$$200 \times 3 = $600 \dots$ Keep $$200 \dots$ Send $$40$	to your inviter on the 2nd Friday
\$400 x 3 = \$1200 Keep \$400 Send \$80	0 to your inviter on the 3" Monday
\$800 x 3 = \$2400 Keep \$800 Send \$16	00 to your inviter on the 3'd Friday
\$1600 x 3 = \$4800 Keep,\$3600 Send \$12	00to your inviter on the 4" Monday

Total you keep monthly is \$5,050

EVERYONE MUST SEND DR BARNETT \$100 FOR EACH 2nd MONDAY FOR THE 130 CLUB
The same three will be sending to you weekly. You send to your inviter weekly!

Please Join us on our CONFERENCE CALLS every Monday thru saturday

8:30PM Eastern Time.......Call: 605-313-6143 Pin Code: 105424#

INVITER: Name: ROSAL VID CLECK

Address: 23 Haw Horne Deve

City/State/Zip: ROWED ALE CA 30274

Phone/Email: 404-55/-7600 bettersolv hovs 4 w. 6

No Spam Here... To be removed from our mailing list, please call the inviter and you will be deleted from our list. Thank you yet

www.member 2 member plus-1 NFO

GET PAID <u>\$500</u> OVER AND O AGAIN FOR "<u>DOING NOTHI</u>

GET PAID \$500 OVER AND OVER AGAIN FOR "DOING NOTHING"



-For Paypal.Send Payment to:-Sam7@Peoplepc.com

Free Details! Return this ad with a Self Addressed Stamped Envelope to: Sam's Code #87

P.O.Box 1212, Jackson, TN 38302

Are You Kidding Me? Nope! I'm not kidding you. Yes, that's correct. "Get Paid \$500.00 Over and Over Again For Doing Nothing". Join everyone's favorite money maker dream program TODAY. No copies to make. No flyers to mail out. No mailing list to buy. Just simple 1" Ads. We promote the program and sign-up new members under you. You can mail out flyers if you want to. This program is set up for you to monitor what's going on and exactly when you will get paid, making this program 100% scam FREE! "GUARANTEED". Stop jumping from one program to another. Join us today and make lots of money <u>Doing Nothing</u>.

HERE IS HOW THIS NEW PROGRAM WORKS.

- (1) When you order our "Booklet/Cert". Your start-up kit contains several more ways to earn Passive Income from home.
- (2) We will place your name on box # 1 as we sign-up new members under you, your name will rotate around the boxes from box #1 through box # 10. When your name drops off the boxes, you will receive a money order for \$500.00 dollars.
- (3) You keep \$400.00 out of this \$500.00 and use \$100.00 out of your profits to re-enter again. You can continue to re-enter over and over again and continue to receive tons of \$500.00 over and over again which means \$1,000's of dollars for you.
- (4) Your down-lines will always follow you making your name to re-circle over and over again and as fast as possible.
- (5) NOTE: Anytime a new member signs up under you, they will send you a copy of this flyer with your name on #1 position. So you can keep your own records to know exactly when your name drops off from box #10 and exactly when you will receive your own \$500.00 from us so no one will be kidding you. That's my "GUARANTEE" to you. (Please keep good records to know exactly when your checks are on the way to you.) This is not a MLM or Get Rich quick program. It is affiliate.

HERE IS WHAT YOU WILL RECEIVE WHEN YOU SIGN-UP:

- (1) A Master copy of this flyer with your name and address on #1 position. Plus our new "Certificate/Passive Income" Booklet.
- (2) You will receive our new FREE information on "How To Get FREE Money, Save Money and More". \$1,000's of Dollars.
- (3) FREE report on "How To Make \$72,850 Part-Time". Plus "Discount Savings Cert," worth \$1,000's of Dollars in Savings.
- (4) FREE information on "Where And How To Get FREE Prescription Drugs". Plus "Secrets Of The Richest People".

HERE IS HOW THI	E CHAR	T LOOKS	<u>:</u>			
	4 5	6 -	→ 7	→ 8	9	→
When you sign-up, your name will be place here.					name drops off ou get paid \$500	
HOW TO SIGN-UP	AND RE	GISTER:		in col	ancincion.	
 (A) Print your name and address below position (this is for his or her own rec (B) Send a copy of the flyer with only Passive Income Booklet and Disco (1) Rosalind Clark P.O.Box 961972, (2) Sam's P.O.Box 1212, Jackson, T 	ords.) You will low \$100 to the men unt Savings Cert Riverdale, GA	te our new Passive In the property of the prop	n (for your meveral ways to a copy to thi	et and Discountembership for earn extra mo	nt Savings Certif ee and for a copy ore money from ho	of our
Your Name:						
Address:				Marillo 785		
			1 17 5 8 18 N 18 N 18 18 18 18 18 18 18 18 18 18 18 18 18			

NOTE: We have updated this new program to make it 100% scam FREE and transparent for all members. It may take the same day, a few days or few weeks for your name to circle the blocks depending on the number of people signing up everyday. So be patient. Also, we forward commission money daily to members so all transactions are final and no refund. All taxes are your sole responsibility and no 1099's form will be issued. You take care of your earnings, records, and taxes. *Qur Discount Savings Cert. will Save you \$1,000's of Dollars on your Groceries, Dining, Hotels, Travel, Movles, Shopping . Attractions and More.* © 2020 Sam's Heavy Hitters Program. Jackson, TN 38302 Phone (731) 928-5601 For PayPal payment. E-Mail:-Sam7@Peoplepc.com Your Code: # 87

Date

Signature:

THIS IS AWESOME PROGRAM

NEW AND IMPROVED PERPETUAL \$500 GOLD MINE!

You've found a "GOLD MINE PROGRAM". NO COPIES TO MAKE* NO FLYERS TO MAIL OUT* NO POSTAGE STAMPS TO BUY* NO MAILING LIST TO BUY* JUST SIMPLE ADS. GROSS \$500 OVER AND OVER AGAIN. THIS IS NOT ONE OF THOSE NICKELS AND DIMES PROGRAMS. COME TODAY, GONE TOMORROW. This Program is for heavy hitters. You keep \$400, and take \$100 to Re-enter, again and again. ALL OUT OF PROFITS and all for "DOING NOTHING"!

Hi, I knew if I'd "hang-in-there" long enough, someone would create a program especially designed for the 99% of all MLM'ERS who keep jumping from program to program hoping to make lots of money, but "DO NOTHING"! Well, Sam's Marketing has created such a program and you are among the first to know about it. I predict this will quickly become everyone's favorite money maker. Why? Because Sam's does mass Mailing every week and will place ten (10) people under you. When your name drops off from Box # 10. You've gross a total of \$500. He even added "FREE DISCOUNT SAVINGS CARD" as a gift to the program worth over \$100,000 in Guaranteed Savings. Save \$1,000's of dollars on your Groceries, Dining, Hotels, Travel, Movies, Attractions, Shopping and More. Making the program appeal to everyone making the program keep working like a dynamite. Just see some samples copies of money orders some members have received. If you would like to start pocketing couple of \$1,000's of dollars every month. Join us today.

Thanks.



